ECE311 Quiz 2
Note: Use of a calculator is not permitted for this quiz.

Problem: Determine the number of 1) LHP (left half plane), 2) RHP (right half plane), and 3) IA
(imaginary axis) roots for each of the following polynomials using the Routh-Hurwitz criteria.

1) s3+s2+25+8
2) s°+25* +2s% + 45?2+ 11s + 10

3) s*+ s3+3s2+2s+2
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ECE311 Quiz 2

Note: Use of a calculator is not permitted for this quiz.

Problem: Determine the number of 1) LHP (left half plane), 2) RHP (right half plane), and 3) IA
(imaginary axis) roots for each of the following polynomials using the Routh-Hurwitz criteria.

1) s3+5s2+25+8

2) s5+ 2s* 4253 + 452 +11s + 10

3) s*+ s3+3s2+2s+2
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